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INSTRUCTIONS : i) All questions are compulsory.
ii) Answereach question on a fresh page.

iif) Write the number of the question and sub-question clearly.

iv) Draw neatlabelled sketch maps and diagrams wherever
necessary.

v) Figures to the right indicate full marks.

vi) Answer to the questions of multiple choice should be written
by choosing correct alternative given below the statement
and write the completed statement.

vii) Answer to the questions carrying 1 mark should be written
in 1to 15 words.

viii) Answers to the questions carrying 2 marks should be
written in about 50 words.

ix) Answers to the questions carrying 3 marks should be
written in about 80 words.

x) Answers to the questions carrying 4 marks should be

written in about 150 words.

1. A) The interaction between primitive human society and strong forces of nature
is known as [1]

i) Neodeterminism
ii) Determinism
iii) Possibilism

iv) Securalism
B) Define possibilism. [1]

C) How does availability of water and land form affects the population distribution ? [2]
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D) What is the significance of age structure ? [2]

E) How does sustainability and equity helps in human development ? [2]
F) Explain the main features of plantation agriculture in the world with suitable
example. [3]
2. A) The tertiary activity involves : [1]
i) Farming
i) Weaving
iii) Trading
iv) Hunting
B) State any two problems identified in the urban settlements of the world. [1]
C) Describe any two classification of ports based on cargo handled with suitable
example. [2]
D) Explain the main features of Suez canal. [3]
E) Explain the features of mineral based and agro based industries based on
raw material. [4]
OR

Explain any four factors responsible for industrial location.

3. A) The maximum number of immigration has seen in the state of [1]
i) Maharashtra
i) Goa
i) U.P.
iv) Bihar
B) North eastern states shows low level of human development. Give any two
reasons. [1]
C) Explain the main features of ancient towns in India. [2]
D) Explain the features of working population in India. [3]
E) Draw a neat sketch map of India, locate and explain areas of rice cultivation. [4]

OR

Draw a neat sketch map of India, locate and explain areas of sugarcane
cultivation.
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4. A) The portlocated in the State of Karnataka is
i) New Mangalore Port
i) Marmagao Port
iii) Kolkata Port
iv) Haldia Port.

B) Name any two methods used for conservation of water.
C) Explain the distribution of manganese ore in India.

D) Write the features of TISCO Steel plant.

E
F

) What are the features of pipeline transportation ?

) Draw a neat outline map of India and locate the following in it :
i) Marmagao port

if) Gurgaon Industrial region

iii) Barauni oil refinery
)

iv) Krishna river basin. (one mark for map work)

5. A) The highest birthrate is recorded in taluka of Goa.
i) Ponda
i) Tiswadi
iii) Marmagao
iv) Quepem
B) What is eco tourism ?
C) Explain the rural urban composition of population in Goa.
D) Highlight the features of Ponda town in Goa.
E

F

) Fishing is a traditional occupation of Goans. Explain.
) Draw a neat outline sketch map of Goa, locate and explain the Bethora and
Verna Industrial estate.

H-551 -3-

[1]

[1]
[2]
[2]
[2]
[3]

[1]

[1]
[2]
[2]
[2]

[3]



